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NOTE: KEEP YOUR PEN AND ROUGH COPY READY.
Q1.  The product of two consecutive odd natural numbers is 399. What is the sum of the digits of the greater number?

	
	A : 
	
	3

	
	B : 
	
	5

	
	C : 
	
	7

	
	D : 
	
	9




Q2. Which quadratic equation has roots as the abscissa and the ordinate of the point of intersection of the line x = 2 and the curve y = x2 − 3?

	
	A : 
	
	x2 − 3x + 2 = 0

	
	B : 
	
	x2 − 2x + 3 = 0

	
	C : 
	
	x2 + 2x + 1 = 0

	
	D : 
	
	x2 − 2x + 1 = 0




	Q3. 
	A : 
	
	no real root

	
	B : 
	
	two equal real roots

	
	C : 
	
	two distinct real roots

	
	D : 
	
	three real roots
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Q4. The equation [image: image1.png]


has

	
	A : 
	
	no real roots

	
	B : 
	
	two equal real roots

	
	C : 
	
	two distinct real roots

	
	D : 
	
	infinite number of real roots




Q5. If α and β are the roots of the quadratic equation x2 − ax + b = 0, then what is the length of the hypotenuse of a right-angled triangle whose perpendicular sides are α and β respectively?

	
	A : 
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	B : 
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	C : 
	
	[image: image4.png]




	
	D : 
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Q6.If the product of two consecutive positive even numbers is 840, then what is the sum of the numbers?

	
	A : 
	
	48

	
	B : 
	
	52

	
	C : 
	
	58

	
	D : 
	
	62




Q7. What is the condition under which the equation 2x2 + kx + 8 = 0 does not have any real root?

	
	A : 
	
	k < 8

	
	B : 
	
	k < −8

	
	C : 
	
	−8 < k < 8

	
	D : 
	
	−10 < k < 10




Q8. If l and m are the roots of the quadratic equation x2 − 9x + 14 = 0, then what is the value of[image: image6.png]


?

	
	A : 
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	B : 
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	C : 
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	D : 
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Q9. If a and b are the roots of the quadratic equation 3x2 + 11x − 4 = 0, then what is the value of [image: image11.png]( L
a+db btda



?

	
	A : 
	
	[image: image12.png]




	
	B : 
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	C : 
	
	[image: image14.png]55





	
	D : 
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Q10. If one of the roots of the equation (a2 − b2) x2 + (b2 − c2) x + (c2 − a2) = 0 is 1, then what is the other root?

	
	A : 
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	B : 
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	C : 
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	D : 
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Q11. If x = −1 is the common root of the equations 2x2 + ax + 1 and x2 + 6x + b, then what is the value of [image: image20.png]


?

	
	A : 
	
	2

	
	B : 
	
	3

	
	C : 
	
	4

	
	D : 
	
	5





Q12. If m is a root of the equation x2 − mx − n = 2, then what is the value of n?

	
	A : 
	
	−3

	
	B : 
	
	−2

	
	C : 
	
	2

	
	D : 
	
	3




Q13. For what values of p does the equation [image: image21.png]2-2p+3-6p=5



hold?

	
	A : 
	
	−2 and 47

	
	B : 
	
	−2 and 23.5

	
	C : 
	
	−1 and 47

	
	D : 
	
	−1 and 23.5




Q14.  Use the following information to answer the next question.
Varun distributed 150 candies equally among his friends. If there had been 5 friends less, then each would have received 5 more candies.
How many friends does Varun have?
	
	A : 
	
	25

	
	B : 
	
	20

	
	C : 
	
	15

	
	D : 
	
	10




Q15.  If [image: image22.png]


, then what is the value of y?

	
	A : 
	
	1

	
	B : 
	
	2

	
	C : 
	
	3

	
	D : 
	
	4
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